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QUESTION 1
A manufacturing plant works for two shifts of 8 hours each. The Manufacturing user wants a work center resource R1 of
4 units to be available during a nonworking time outside the regular shift on a particular day. Identify the sequence of

steps to create a resource exception in the Manage Work Center Resource Calendar page.

A. Click Outside the existing Shift time on a Specific Date> Create Work Center page> Click the Resource Availability
tab> Click Add icon> Select R1 from Resource Drop-down list> Enter 4 in Default Units Availability column.

B. Click Inside the existing Shift time on a Specific Date> Action Menu> Select Create Resource exception> Populate
Start and Duration Field> Resource Availability region> Populate 4 units in Default Availability column.

C. Click Inside the existing Shift time on a Specific Date>Create Work Center page>Click the Resource Availability
tab>Click Add icon> Select R1 from Resource Drop-down list> Enter4 in Default Units Available.

D. Click Outside the existing Shift time on a Specific Date> Action Menu> Select Create Resource exception> Populate
Start and Duration Field> Resource Availability and Overrides Region> Populate 4 units in Availability Override column.

Correct Answer: D

QUESTION 2

Your customer is a light assembly manufacturing company that doesn\\'t require shop floor control. A manufacturing
engineer wants to generate a work definition automatically for some items, and wants to eliminate the explicit
maintenance of work definitions. Which three steps must be completed and verified in the Work Definition area?

A. Ensure the predefined work definition name ORA_MAIN name is active.

B. Select a resource that is to be used in automatic work definition by enabling the attribute Default for automatic work
definition.

C. Select a standard operation that is to be used in automatic work definition by enabling the attribute Default for
automatic work definition.

D. Ensure the item is a standard item with a secondary item structure.
E. Ensure there is only one default standard operation at a given point in time.

Correct Answer: ACD

QUESTION 3

The production user wants to report Work Order completion. Identify two ways of reporting the progress of work order at
work order operation level.

A. Change Move status to Ready.
B. Complete using quantity completion

C. Complete with Details
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D. Quick Complete
E. Change status of Operation to completed

Correct Answer: CD

QUESTION 4

The Cost Accountant has reported to the Production Supervisor that the Work Order transactions are not
getting transferred to Costing.

Identify the reason for work order transactions not getting transferred to Costing.

A. The Manage Item Rules setup is not complete.

B. The Costing Interfaced Attribute is enabled in the resource definition.

C. The item was made inactive after the Work Order transaction.

D. The Costing Interfaced Attribute is not enabled in the resource definition.

Correct Answer: D

QUESTION 5

You are setting up Fusion Manufacturing to support Back-to-Back Fulfillment. Identify an option that needs to be set for
oracle Fusion Planning Central to plan back-to-back item components and resources.

A. Select the Used in Planning check box in the new Work Definition.

B. Select the Used in Planning check box in the Work Definition Names.
C. Select the Used in Planning check box in the Work Structure.

D. Select the Used in Planning check box in the item definition.

Correct Answer: B
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